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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) whremefl gdyem 199 T9-u9 T AT Afemid: ford |

Candidates must write first his / her Roll No. on the question paper compulsorily.

2) T yv A rfEri E |

All the questions are compulsory.
(3) T T T ST &I T8 I -faht H & ford |

Write the answer to each question in the given answer-book only.
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For questions having more than one part, the answers to those parts are to be written
together in continuity.

(5) -9 % et 9 S T # feref wehr <t fe / 3ran/ feienar g W fa=t v %
TR i & FRT A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) T

A oA e ¢

Part

A

B
C
D

(7) S ShHTh 27 9 29 | AT forehed 8 |

There are internal choices in Q. No. 27 and 29.

9T &

1-10
11-15
16 —25
26 —-30

Question Nos.

1-10
11-15
16 —25
26 -30

1
2
3
6

3T Tk T

Marks per Question

1

2
3
6

(8) IO ITR-YRETHI 6 YBI o gl AR fafay | Afe 15 7% Fr F 2, q IH-GRETH 6

3fem 8T W 37N 3= Foiet el 8 el 3 W T wE @ ¢ |

Write on both sides of the pages of your answer-book. If any rough work is to be

done, do it on last pages of the answer-book and cross with slant lines and write
‘Rough Work’ on them.

(9) ¥ SHHTH 26 HT G UTH YO UX ST |

Draw the graph of Question No. 26 on graph paper.
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AT —-HA
Part— A

1. T e T S S 311 x 31w e A |

1 5
Find the value of 3 lg x3 lg by using Ekaadhiken Purven Sutra.

&R 1 1 1 1
2. & :x—3+x—7=x—1+x—9

S R B B
OV 37 x—7 x—1"x-9

3. 196 % 1T UMEUE] <l Gl T AMTHSA fARIT |

Write the sum of powers of prime factors of 196.

4.  cos 50°- cosec 40° b1 HH %ﬁ\@ﬁ |

Write the value of cos 50° - cosec 40°.

5. If¢ U FHEETER B T TS qT ShT BT hI TS BT I 1 2 /3 &, A g
I~ hHIVT [T <hIFT |

If the ratio of the length of a vertical bar to its shadow is 1 : \/5, then find the

elevation angle of the sun.
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6. < fedm fomgatt & aw qre fargati o fargmy fotfia |

Write the locus of the points equidistant from the two given points.

7. I H %5 8 qaH gt ot feud sfensti st stqard fafae |

Find the ratio between the chords which are equidistant from the centre of a circle.

8.  Teh UTH o Ush IR thehd W faud 376 311 <hl TTRehdT F1a shifviT |

A dice is thrown once. Find the probability of getting an odd number.

9. fordll T # 2ot <h1 fortr UgH fepeiet 1 % 5 3 Ik Se H T 37 | Ife qa hl T8
gl x Teprfl ST fortram 2 y &1, A 58 SHiehio] €9 =376 T |

In a city, the fare of a taxi for first kilometre is ¥ 5 and after that it is I 3. If distance

covered is x km and fare is ¥ y, then express it in the form of equation.

10. =fe T @ % IMER | 20 et gL foud wiewm o U foarg @ @i 6 =i1dl o 5

HI R I HIUT 60° 2 I T shl H=Ts FTd HIfTT |

If the elevation angle of a camera situated at the top of a pole from a point 20 metre

away from the base of the pole is 60°, find the height of the pole.
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T —¢
Part—-B

11. ggam fafr @ 6889 =1 ot ge1 Fra hifT |

Find the square root of 6889 by using Dwandwa Yoga Method.

12. 9f¢ § TS 1 UHBA 525 & 3 ITh! HedH THIGAH 5 8, Al b1 g

U T SIS |

If the product of two numbers is 525 and their H.C.F. is 5, then find their L.C.M.

13. T o4 1 TOg01 IS &kt 216 o HieT B | 5 h Yl H1d HIT |

The total surface area of a cube is 216 square metre. Find the side of the cube.

14. T 375 et <l orsem 7 9.1, 2, 3eh1 9vq0l IET &1l 31Td hifT |

The radius of a semi-sphere is 7 cm, find the total surface area of it.

15. Teh 24 Hiel S Iidd W AT =01 & fiw CCTV S8 o 72 g difes I8 91 <6
MY & 25 Hie T 3P X1 % A7 ff AT ¢ THhAT @ | O o =9 AR ISR a9
T ST FTA hHITTT |

A CCTYV camera is placed on the top of a 24 m high pole in such a way that traffic
can be seen beyond 25 metre of line of sight of it. Find the area of the Green patch

around the pole.
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-9
Part - C

16. Tovrem wermifeem ugfa gRT 9gue P(x) = x4 —3x2 + 4x — 3l g(x) =x2 + 1 —x & W

T W HITHA UF AYHA FTd HIT |

By using division algorithm method find quotient and remainder when polynomial

P(x) = x* — 3x% + 4x — 3 is divided by g(x) =x% + 1 —x.

17. 3t Fore THT=R &€t 1 QO 3 a0 UG ShFRl: 3 311 S &, @ 36 JUW 20 TGl 1 ATHe
31T hITT |

If second and third terms of an Arithmetic Progression are 3 and 5 respectively, then

find the sum of first 20 terms of it.

18. Wesh HIMN o ATUR | 9 it o 25 WX gt W U & W@ W fed g1 famgati & q@ W

HR % TG o I~ 101 TER T & | MR <l T8 F1d shif |

The angles of elevation of the top of a tower from two points at a distance of 9 m
and 25 m from the base of the tower in the same straight line are complementary.

Find the height of the tower.
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19. € T8 3TeRfd # Af¢ OP - OQ = OR - OS Tl §¥ET LOPS = ZORQ T ZOQR = LOSP.

In the given figure if OP - OQ = OR - OS, then show that ZOPS = ZORQ and
Z0QR = ZOSP.

20. TH YA ABC H ATfERIE AD, BE 31R CF & fomg G § ol & | af¢ AD = 9 &,
GE = 4.2 9} 3R GC = 6 U1, a1 AG, BE 3T FG ! oimaTsai o 7 J1d shifolT |

In a triangle ABC, the medians AD, BE and CF pass through the point G. If AD =9 cm,
GE =4.2 cm and GC = 6 cm, then find the values of the lengths of AG, BE and FG.

21. € TS IR H FHB HIVH I x, y 3N 2 | Fafed forem w2 | 57 1M <6 7 710 Hife |

In the given figure some angles are represented by x, y and z. Find the values of

these angles.

22. U 4 Uil Frsa o 91 W TR foeg P & & SRi-{@13At PA d1 PB %1 W1 i | &
PA 1 PB % T% %101 65° 2 |

Draw two tangents PA and PB from an external point P, to a circle of radius 4 cm,

where angle between PA and PB is 65°.
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23. U JARRR Uk hl Forsam 4.2 Hiew @ | Uk o IR AR 1.4 Hiet <eT TE1 S g3 | |

& bl Thd aﬁﬁﬁm |

The radius of a circular park is 4.2 m. A path of 1.4 m width is made around the

circular park. Find the area of the path.

24, Teh Yol <hl TS 2.5 Hiet 3T =ad 1.4 Hiet 2 | 10 I8 FTH H UoR Tehd T &9 99d
HUT 7

The length and diameter of a roller are 2.5 m and 1.4 m respectively. How much

area will be planned by roller in 10 revolutions ?

25. Teh 91 H Ueh UWhe Tie, &1 hicll e FR i oTet Tic Teh &1 SRR hl 3 | 39 91 | 9 Th

g 1T AT TehTelt STt @ | STfehdT S1Td Shif :

(i) Tiguwg &l

(ii) TG et A&

(iif) 77 =FTeT &

In a bag one white ball, two black balls and three red balls of same size are placed.

A ball is drawn at random from this bag. Find the probability :
(1) ball is white
(i) ball is not black

(ii1) ball is red
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AT —1¢q
Part-D

26. T Waes Trfisrtor 3w 1 i fafyr gra ga Hife

27.

2x+ty=6,2x—y=2
37A: 3Hh! HETIT | HEY 6x + 7y = p W p o1 UM T SHIMNT |

Solve the following pair of linear equations by graphical method :

2x+y=6,2x—-y=2
Thus find the value of p in the relation 6x + 7y = p.

ﬁaa?ﬁﬁﬂ;
: [1+cosO
(1) | —cos 0 cosec 0+cotH
. tan O cotO
(i1) 1—cot9+1—tan6_1+tane+00te
Prove that :
, l1+cosO
(1) | —cos 0 cosec 0+cotH
tan O cot 0

(ii) l—cot9+1—tan6:1+tane+00te

JAYAT/OR

(1) ElﬁsinG-i-cos9=p3ﬁ?sec@+cosec9=q@ﬁﬁ@ﬁﬁ?%q(pz— 1)="2p.

(i) fog Hife:

cos A sin A .
1—tanA+1—cotA: Sin A+ cos A

(i) Ifsin O+ cos O = p and sec O + cosec 0 = q, then prove that q(p? — 1) = 2p.

(ii)) Prove that :

cos A sin A .
—tanA 1—cotA Sin A + cos A
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28. (i) 3fG g (x, 3) 3R (5, 7) o == Al gt 5 &, T x 1 A FC HIT |

(i) T HIT @ 3x + y = 9 fogaTi (1, 3) 3R (2, 7) i AW aTet 1@ @S Hi fohd
g 3 ferrfora e 2 |

(1) If distance between points (x, 3) and (5, 7) is 5, then find the value of x.

(i) Find the ratio in which the line 3x + y = 9 divides the line segment joining the

points (1, 3) and (2, 7).

29. ABC T GHIU BT & &1 /B THhIV 2 | YT AB W D 71 ¥ BC W o5 E

fera 2 | fag hifSe : AE2 + CD2 = AC2 + DE2.

ABC is a right angled triangle whose £B is right angle. If points D and E are situated

on the sides AB and BC respectively, then prove that AE% + CD? = AC2 + DEZ.

JYA/OR

e Tk TehT TGHS ol &1 YSTU TR &1, a1 184G HIT oh AT YST¢ SO BRf 31
ferepof oft s 2 |

If two sides of a cyclic quadrilateral are parallel, then prove that other sides are

equal and its diagonals are also equal to each other.
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30. T SRETRAT 57 % HIET F SgeTeh Td ShiTT -
BIEIED 20-30 | 30—-40 | 40-50 | 50—-60 | 60-70
BT bl TN 4 28 42 20 6

Find the mean and mode of the following frequency distribution :

Score 20-30 | 30—-40 | 40-50 | 50-60 | 60—70

Number of Students 4 28 42 20 6
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(F3: 31, €Q)
genfRial & forg wmT Ader-

1. |t ued o= srfarf gl

2.
YT UL HET
ar 1-10
g 11-15
q 16-25
g 26-30

3. W i 27 9 29 H 3M=dR® fdwey gl

4. U7 PHHIB 26 B @R ITH TR R §1T
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RTSTRYTE I8 RIS H9T-U7 (g1 Afgd)
Hreafies ysterr, 2018

Tford

(qurfep : 80)

3h TAD T

D W N

Q.2:

Q.3:

HIT-31
© I TPIIDT G BT FANT PR g 31%><31%Eb‘r1¢m§nﬁ
I |
8l
RiEaE

(i) Prram d+2=1
(ii) 9 fRaery 3id T = 31.

GF Tl gay faftr gri,
314 % 312 =[31 x (31+ 1)]/[% x %]
=31 x 32]/[%]
 aao 5
= 992
P 11 1
& r—3t a7 Ta—1Tz-9

Bl :
TRVIT PR PIAT =2—3+2—7=2z— 10

R U SR B AN =g—1+2-9 =22 10
SHT Ue T B W, PR

2x—10 =0
= 2¢ =10
x :%:5

196 & WY YOFEUS! Pl Gl BT INhe fIRed |
B8l :

196

EISISIS
=
©

196 & 3T JOFEUS = 2 X 2 X 7 X 7
=22x 7
31c: 196 & U UHREUE] &Y BTl T AN =242 =4

¢ cos50° - cosec40° BT A fIRad|

Bl :
cos50° * cosec40° = cos(90° —40°) - cosec40°®
[cos(90° — 0) = sin0]

1
sinf

= sin40° * cosec40° [cosec9 =
. o 1

= sin40° X Sn40°
=1

feremRfarl <1 fae & fob fSgr e 10th Femr
& Hlsel UIR UTH HRA & el 9460377092
I MUT FTRT &b GICATT U H T8 | Ufe
HIE U Hisel AT 3TUh FelRd 4 H Wl
ST
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Q5:

Q.6:

Q.7:

Q.8:

IfE Th HEAltR B DI TS TAT SHD! BRIT PHY A=6TS BT
3FUTT 1:+/3 &, A1 GF BT I~I DI S BRI
gl :

qHT B Pl TS, BC =y @i
TAT BT BT T, AB =3y ga18
FHRIT A ABC H,
C
Yy
0
A \/gy B
Tgl, 0 = T FT IR BT
_ BC
tan =5
tang =4 — 1
V3y V3
= tan 30°
6 =30°

;SJ.T‘T:@EF[WW:?)OO
QoA T frgatt & T gxver firgeit a1 fmguer forag

B8l :
A g Q@ frgall & gz frelt Rimg ot fmguer I et
Tl IGRIUS DT AT AHGHTSTD BT Bl

g | b | FHE X IR R Sfaratl @ s Rk
B

g S & & it qa H el pg A RER Q@ RA A
URIOR GRTER I @1 37T Sfareii o7 egurd 1:1 gnml

Th Y & T IR theb TR A9 37h 31 &Y UrlRiepdT sitd
BT

Sk
S =1{1,2,3,4,5,6}
n(S) =6
(B) ={1,3,5}
n(E) =3
arct: anfise i, P(E):%:%:%
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ot TR § 2= 1 foRmET ugel fheier @1 ¥ 5 3R D
Wﬁ?3%laﬁﬂazﬁ@§&xﬁﬁ’ﬂ3ﬁ?m?yﬁ,
a5 R ©T § Fad iR

Bl :

& g,

Tgol fhaiier &1 fommar =% 5
3T foheti ey ot foRmr =% 3

T, RRIEARIEARIEE R
3R Pt fREm =2 y
EESIGRIN
P fRmT = dgel fpeirieR @1 fahRmn
+ 3T T fetrieR @1 fmmn
3 y =5XxX1+3(z—1)
y =5+32—3
0=2+3z—y
3z—y+2 =0

I U @H b MUR A 20 Her X (RIT wich™ & U
g & @™ & AN W o g SR BT ST P07 60° 2 Al
T B TS S DRI

el

HHT b TS BT @1 (BC) RAAR R 21 @ | 20
MR 1 g R T farg A R 2l

C
b TeR
60°
A
20#/ex ——~ B
FHAIT A ABC H,
‘ _ @ _ BC
& 9 E, tane_ig =15
o _ BC
tan 60 =15
= V3 =L

~20
h =20v/3 =20 x 1.732
= 36.64 e
31T GFH Bl FaTs 36.64 HieR Rl

frernfeal & frae 2 5 iR 918 10th Fo= & Alser UWR UTH &= & fow 9460377092 I 30T
FANT & FICAYY J4 H TS | Ui AHIE U Hisel AT 3MUh FolRT 4 | HSIT STIQT|
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Q.11:

Q.14:

HIT-9

&s am faftr | 6889 &1 g a1a Sl
&1 ;g5 A fafy g,
68| 89
16| |4
8 |3
Hpe-
(1) uYH et 3ich = 8 AT WISTh 8 X 2 = 16
(ii) QI9heT = 68 — 8% = 4 TH IR WIS # 8 | Ugel
A foraat €1
(iil) T AT = 48 FAUT AT = 48
3rd: 48 + 16 = 3, W 1 forar 8 & 3T qUT AvHeA
0 forar 4 31 31 T 8 | 9 & LAl
(iv) =1 95T = 09 TAT AfH AThA = 09 — 3° =0
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37d: v/ 6889 =83
: IfS Q1 HRATAT BT oGRS 525 7 AR ITehT Hgad AT

5 g, Al 39T agad FHaad Sid Il
B8l :
fa g, QI AeeTatt @ OERe = 525

3Dl HatH qHEGD = 5

M - A X A8 = 3 SIS BT U

;. ogeH wHacd (LCM) :aﬂﬂﬁgggw
=52 — 105

: Gp g9 1 Frquf ISR &thel 216 aif HieR g1 B i et
ST I

gl :

fear g,

G T AU S &hel, A = 216 @ HieR

G BT Yol = ?

o & Gl ISl 8Fhel, A = 6 x (oT)?2

= 216 =6 x (Yom)?

T (o) =210 = 36

oI = /36 = 6 Hie”
31a: o9 BT Yol = 6 HIeR
T 31 Mt 1 Boar 7 a8, s ol oS3y &l

ST IR

el

far g,  or€ Mo i Broam, r =7 [,
31 et 1 Ul ISR &t = 3y

nﬁ?@ﬁq?:?)x%—?x?x?

= 462 if 3.

Page 3

Q.15: Uh 24 Hiex $d Ui R ITqRITT =701 & fow CCTV daRT

SRIIRT T & 1fep a8 it b ofif 4 25 #ier R gfee a1 &
3 Y IR S HhdT gl Ui & IRI SR AT g B
&Rl ST HIfTT |

&

fear g, qet B ST, AB = 24 Hiex

i & ofif & R 6l gfie i arg, AC = 25 He®

[

24 Hiex
LQ

G

N

B C

UTRANRA W 4,

()2 = (a2 + (3MYUR)?

AC® = AB’+ BC?
= BC* = AC*— AB®
= BC =vAC— AB®
= BC = /(25)%— (24)*

=625 — 576 = /49

= BC =17 Hie®

3FT: UIe & UIG | 7 HIeR Bl g & AR BT AR @Ts
2|

37T: 3reeT g i B, R =17 e
Uit & IRI SR 3SR g BT &AFAHA

:wR2:27—2><7><7:154aﬁn‘1a

ool I e ¢ & Rt @ i disa 9w (PDF)
JUTeY HRAV | WY Hisel YR & v § fenfofat ot sand
qrfes aRiem o fremelf AT A SATQT 31 o Wb | [RHorl
AT 8 f5 9460377092 R Rt 3o+ fama SMS @R | &9
AT UF PR IIY BT F Alsel IR Jolii|
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YIT-H =10(2+19 x 2)
=10(2+38) =10 x 40 = 400
Q.16 : fAWTST TANRYM Igfd RT gUg P(z) = 7' — 327+ 47— 3 . anfise 3
B g(z) = P+ 1 — x F TN S R AN TG ATH ST o 400 &

CAIEN . . Q18: 7 R F MYR § 9 Hfiex T 25 Hex o R T &
& 9GS P AD T K fererd R R I fgatl A g R HHR & R & S~ Iy
P(z) =2'— 02" 327+ 42— 3 RER R ¢| HHR &6 a8 ed HIR|

g(x) =27 —2+1 el : .
Pip_3 HHT HAR (AB) & S8 h g1 HHR & SMUR A 9 Her g
I2—I+1)I4+0£U3—3$2+4:L‘—3 W%CQHWZ5W®W%’T_§D%|
2 — P2 A
7+ —
2 — 427 + 4z
2P -2+
_+ —
-3 +3z—3 h HIC
—32°+3z—3
+ - 4+
0 0 9060
a37d: YMhel = 27+ 2 — 3 D C~—9g¥Hex—— B
AYHA = 0 —— 25 ¥R
TgT 9IoTd X HNThA + el
2 - afe ZADB =0
=(?-az+1 +2-3)+0
(Fmer ) (e =) ar ZACB =90° -0
=2+ 37 -2 P +3r+ 27+ 2-3 _ AB B
FHHIT A ABD ¥, tanf = 52 = L (1)
=2'- 327" +4r—3 = UG . BD ~ 25
3rc: faYr YemiRen gearfid giar gl IF: HPIT A ABC H,
tan(90° — 6) = glg
Q17 I frelt AR Sl T GIRT 7 FRRT U e 3 @R 5 €,
al 9P TUH 20 UGI BT INTHA ST Do | a1 cot § :% ..(2)
A TR (1) T FHIHRO (2) BT O PRA W,
e &, h h
_ %‘rcrﬁzqu'q', o —3 tan@xeote—ﬁxg
WMWWW, a =5 tanexﬁ %X% '.'COt@Zﬁ
3rd: = —1)d fhiz
a a+(n—1) ar 1 .
a =a+d = W =225
a; = a+2d ar h =225 =15 Hiex
5=a+2d .(2)
SRR (2) F R (1) A I R, ) ol ¥ P § R Renial @ $) Ateet dwx (PDF)
5—3=a+2d—a—d U FRATY| 0T Hisel UiR o fawa 7 fenfiat o g
= 92— s aien o fqemelt Sarer | SATQT 37 o Web| THorl
d 1 A Few (1) F W w® e 8 6 9460377092 R R oA fawa SMS a1 &q
3O S IR I v | Aisel YR Hoil |
3=a+2
a =1
& T E- S, =2[2a+(n—1)d Q19: & T 3MPfT H AT OP - 0Q = OR - OS l g2rigy

ZOPS= 20RQ 3 2 OQR = 2 OSP.

S =22 x 1420 1) x 2

ﬁmﬁéﬁfr ¥ e g & fdgr 918 10th Fom™T & Afedl UuR U8 &_ & folg 9460377092 i 37u!
FANT & FICAYY J4 H TS | Ui AHIE U Hisel AT 3MUh FolRT 4 | HSIT STIQT|
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R
P
0
S
Q
B8l :
e g,
APOS @ AQOR ¥ OP- OQ= OR+ OS
. OP _ OR
31a: 05 =06 (1)
qem ZP0OS = £R0OQ (fwiftpg aron)  ...(2)
FHteRT (1) T (2) 9,
APOS = AROQ (SAS wudl Fdrer)
IR /P =/R
T 28 = £Q (F7wd sl & T Ppior)
a1 Z0PS = 2 0RQ
q Z OQR = 2 0SP sfifign

Q20: U% B3YST ABC # Wfeg@d AD, BE 3R CF & &g G
J ol §1 G AD = 93+, GE=4.2 9. 3R GC=6

aft., @ AG,BE 3R FG & oa1gal & 99 o1d HIfg)

g
B S & 6 e ¢ gt &Y mnfedest @t 2:1 & Srgurd
7 i awar gl
. AG _ 2
oI GD 1
GD _1
a AG 2
A
F E
G
B D C
SFT &l 1 Sie W
GD ,, 1
dotl=5+1
GD+ AG _1+2
AG 2
GD _ 3
AG — 2
9 _ 3 _
E72(1%?11?3‘, AD =9 %)
AG =9X2 _ ¢
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BG _ 2
T HR, oF 1
QT vl F 1 Sied W,
BG 2
GETLI=1+1
BG+GE _ 2+1
GE |
BE _ 3
GE ~ 1
BE =3GE =3 x 4.2 = 12.6 94
FG _ 1
R GC ~ 2
FG:%GC:%M::HW.

ﬁﬂéwﬁrﬁwaﬁvﬁﬁ x,yﬁ?zﬁﬁ%ﬂwwﬁl
3 PIUI &b T ST DI

- Ny

N © ]

Bl :
@ 7 R § ABEF 91 BCDE & 951 ags 21

T ST ¢ T I ISt o SRSPpIvT SR STRIIE BHIoT
P SRR B &l 3 PR A

/ BAF = £ BED = 65°
I, ZE+ 2£C =180°

F E D
/910 Z\
[ ) [ ]
Nl R
A B C

" BEDC & T a4t gl o Si—-arm & vl &
2T 180° €T 2

= 65° +y = 180°
) y =180° —65° = 115°
3l TR,

Z AFE = 2 CBE

=> 91° =z

o z =91°

AT E, a4 2 = 180° WA TTHSA B PR
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z =180° — x IR BT AAhel = IR AfRd JATBR U Pl &hel
z =180° —91° =89° — IR AT U BT AFAHA

=nrs —7wri =7(rs —rd) =7(p—n)(n+n)

Q22: U 4 JHY. BT & g1 W 9@ e P ¥ &1 el-Xarsi PA

qAT PB & &A1 HIRTT ST8f PA QT PB & 58T B0 65° =7m(56—-4.2)(5.6+4.2) =7 X 1.4 X 9.8
gl =22 14 x 98
gl :
R 3, J APB — 65° =22 x 0.2 X 9.8 =43.12 & Hlex
/A =/B=90° Q.24 : U AR Y o018 2.5 Hiex iR ey 1.4 Hiex 81 10 TFax
3T TGHST AOBP 1 FiAT iy, ST H RNeR T &3 FHe P2
2 AOB =360 — (65° + 90 + 90) &l :
:360_245021150 %ZITITEIT%— Wiﬁm:25tﬁ€'\’
i Sflar 0A @ OB & Heg oy, arerfq AR & Ha18, h = 2.5 "X
ZAOB =115° AeR BT &N, d = 1.4 Hex
ET-
_ 2r =14 Hix v d=2
(i) 4 3. BT &1 gd 9T @ B 0A 9 OB & 72 _ " ( )
115° T P07 FTRIT IR BT T TR H &Fthel = IR Pl Ish JSSIT &=thel
(i) OATOB & Ad B RS H: AP 9 BP &l = 27rh
ST Th-GIR Pl P R ferd 2
= 2 h
Z APB @ 9 W £ APB = G5° STH &1 81 =9 Z;(r)x
TpR arfise ¥aef Raraft &Y T BT Bl ==X 14Xx25
=22x0.2x25
o= =11 & Hiex

B

Fd: 10 TFPR T H &5l = 11 X 10 = 110 @f Hiex
wea] o

&
5 a@ y Q25: W% el § T WG 1ig, A Pett g 3R N et g g &
P m
N

AMMHR HT Bl 39 Jot § | & i Argesdn el St 2

P ST ST BT~
(i) g g &
A A (i) g Prelt 7 &
. . (iii) g =fret &l
(i) (ii) 7t
fm 2, St 7 whg g = 1
Q.23: U5 JepR Ik Y o 4.2 Hiex 31 01 & IR @R 1.4 et & reft A = 2
e dieT T I 83T 21 IR BT AT S DI Stor  aret e = 3
&t <foam & Jol 7 WS T PoI T = 1 The +2 Plell +3 T =6
IRIPR leh b T, no=4.2 #iex ot 1 T e Argewdn P W Pt FETfd aRuTE = 6
e e e 1 e, (i)ig AHE B I TS P 3TgHel IRIH = 1
n=42+14=56 MxR e e 2 & SR

P_aema%a@aqﬁvnﬂ 1
- gpagmayfem 6

‘ (ii)g Prefl B BT TS & ggel IRUH = 2
g et @M &I wTRiepr

P _ NP aggA aRom 9 g

ol Teg gRum 6 3
arat: i et & 6 e (P) = 4
e A Pleit T 89 I WRiddl= 1 — I Dleit B Dl TTRpdr

frenffat @ e g fb figr 91€ 10th Foy & Hiser YR UTH @ & fev 9460377092 I 370!
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:1_%:% = 12414 =p
(iii) g et B Y TeAT F 3IFel aRomH = 3 p =26
g oTel 89 &t TTRredT
P T dIgRAIRIE 3 1
- gagm@gRom 0 6 2
YAT-¢

Q.26 : =7 IRgep FHiaor I i el faftr gRT gat Hfve-
20+ y=6, 2r—y=2

3T AN AEIAT H T 6+ Ty =p H p B AF a0 Xl 5 4 3 9 10

zﬁ-ﬁﬂ-q 1,

gl :

f&ar g, IRaep Fiawor g,

20+y =6 (1)
20—y =2 .(2)
FHIBRT (1) & I g AR U6 &R R = 0 R
2X04y =6
04y =6 Q.27 : Ryg HfT-

(1) Jltcosd _ 00p + cotd

a1 y =6 1 —cosf
s tan 6 cotf

Mz =1WR, 2x14+y =6 (1) = otd TT—tang = L +tanf +cotd

= 2+y =6 el :

a y=6-2 =14 (i) L.H.S. = /%

F TBR T (1) B forg wmoft £ s s gl 31T T W PN 1+ cosd A T A R,

x 0 1 LIS :\/(1+C089)(1+C089) (1 + cosf)?
y 6 4 (1 —cos®) (1 + cosb) 1 — cos?d
. . (1 + cos6)? o 5
3T FHIBRT (2) b A fo=g RO e B 2 =\ g [ sin’0 = 1 — cos?0)]

iR (2) § z=0 W@ R,

. 1+cosf\ _ 1+cosf
n ( sin 0 ) " sind

2x0—y =4
1 cosf
at 0—y =4 " sinf ' sinf
o y =—2 = cosecl + cot§ = R.H.S.
T y—0 TR 2p—0 =2 L.H.S. = R.H.S. (zhifig)
. _ tan# cot O
2z =2 (i) LHS. = T—cot0 " 1—tand
ar z=5=1 G INGC
- _ cosf __ sinf
31T TR (2) BT =g ARoft 777 gpR AT gt 8- (l(smj"o) (1(@;330)
cosf sinf
~ /sinf—cos + cosf—sin
x 0 1 (bmiiHG 6)) ( fost‘) 9)
y ) 4 _ sinf X sinf cosf X cosf
- ] cosf X (sinf —cosf)  sinf X (cosf — sinb)
IR FHRT (1) & (2) ﬁmﬁgﬂwﬁpﬁaﬁmﬁ _ <in0 - cos20
T TR WR XGRIH Bl R0 Rl &l cosf X (sinf —cosf) sinf x (sinf — cosh)
QT YT favg M(2,2) TR Afress ot {1 3wt _ sinf X sin*0 — cos§ X cos’6
o ot enfisc gt 2 =2 d y=2 B cosf X sinf(sin 6 — cos 0)
=29 y=2 7 T W ITY 62+ Ty=p ¥ TR _ sin®0 — cos®0

"~ cosf X sinf X (sinf — cos6)
_ (sinf — cos ) X (sin*6 + cos*d + sin @ cos )
o cosf X sinf X (sinf — cosb)
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[ a®— b* = (a—b) (" + b* + ab)]

_ sin®f + cos’0 + sinfcos b
cosf X sinf

_ sin’0 cos’d sin @ cos 6
cosfsinf ' cosfsinf = cosf - sinf

_ sin@ i cosf
cosf  siné
=1+tanf+cotd = R.H.S.

L.H.S. = R.H.S. (sffigH)

OR

+1 =tanf+cotd+1

Q27: (i) IR sinf+ cosh = p 3R sech+ cosech = ¢ B al
Rig PIfTT & ¢(p° - 1) = 2p.

(i) Rig PfTg- 1 EotsaﬁA +7 jircl(ﬁA =sinA+cos A
Bl :

(i) LH.S. =q(p’—1)

p @ ¢ BN HF T R

L.H.S. = (sec + cosec) [(sin @ + cos §)* — 1]

cosf

__/sin@ 4+ cos @ . B
7<7sin0cos9 )[1+2s1n9c050 1]

:< 1 _,_.L)[Sinze—kcosz&—!—2sin¢90059—1]
sin @

_ [sinf + cosf .
= [—sine eosd | % (2sinfcos0)
= 2[sinf + cosd] =2p = R.H.S.
. _ cosA sin A
(if) LHS. = 1—tanA "1 —cotA
cos A sin A
= sin + cos
A
cos A sin A
= cosA—sinA + sin A —cos A
cos A sin A
_cosA cos A sin A sin A
-1 XcosA—sinA+ 1 XsinA—cosA
_ cos’ A sinA
" cosA—sinA ' sinA—cosA
sin?A cos’A

sinA—cosA sinA —cosA
sin’A — cos’4

(sin A — cos A)

_ (sin A — cos A) (sin A + cos A)
- (sin A — cos A)
=sinA +cosA = R.H.S.

L.H.S. = R.H.S. (sfafreq)

Q2: (i) IRRT (2,3) R G,7)FFAFPs5a, @z &
H S BIfSTY|
(i) =T HRTY T 324y = 9 f=gati (1,3) 3R (2,7) @

A dTel WRaRavs ! 5 rgura o g et 2

gl :
(i) fam g,

e ﬁlr_C_;), (z, 1) = (2,3)
e g, (20,10) = (5,7)

Science

o fvgall & @ & g,
d =V (m—5)+(@m— )’
5=y/(-0+(7-3)

d=5
Sl gl @1 af FRA W,
25 = (5—1)*+ 16
= 25—-16 = (5 —2)°
(5—-12)> =9
(5-2)=+tv9 =+3
YHIHS fieg o W,
5—xz =3
T =5-3 =2
FOUTeHS forg o |,
5—x =—3
z=5+3 =38
37d: Tz =2,8

(i) =M1 Reg A(1,3) TT B(2,7) Bl el drel Waravs
34+ y=9 @ X:1 F i a=ar g ord: fvase

famg & e

. /\:1/3(3:, Y) .

A B
(1, 3) (2,7)

— Ml + Myl

my + My
_Muypt meys
e YT T m,
s A2 FLM) 2441
- A+1 T OA+1
_AM+1E) _7A+3
FIPR, y = =35 =11
. R fRme — p(2A+1 TA+3
N ﬁg_P(A+1’/\+1>

T8 fag @1 32+ y = 9 W T & 3R P! A P |
37 7 W R

C/2AF 1\ TAES
- 3 </\+1)+ Ar1 Y
6A+3  TA+3 _
- A+l toarr Y
= 6A+3+TA+3 =9(A+1)
= 13A+6 = 9A+9
= 13X =9\ =9—6
= AN =3
_3
A =7
a1, arfise eI = 3:4 B
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() AD=BC (i) AC=BD
Q29: ABC T FHDIU BT & FRIpT £ B G0 1 ST AB I@RI- . AB Il DC 3R BC e frim W &,
W D JUT YT BC W g E fRua §1 Rig Hifde-

AE+ CD* = AC* 4 DE", o AABC; LDOiB; 150 -
& :A ABE S9®I0 3T § ¢ ABOD @ '
. - ZABC+ £ ADC =180° (2)
qerm ZB =90
=T (1) &R (2) 4,
AE? = AB’+ BE® ..(1)
o ADBC w B & R £ B — 00° ZABC+ 2 DCB = ZABC+ 2 ADC
OD* — BIP 4 BC? (2) T N LDﬁCB = Z/ADC ..(3)
: (1) 7 (2) B ey R, 3 AADC A BCD H,
AE?+ CD* = (AB*+ BC? + (BE® + BD?) .(3) <ADC = 2DCB | (3) ¥
ZDAC = £2DBC (U& g gd @ug
A & PIoT)
IR DC = DC (Safss)
. AADC = ABCD(ASA9)
D 3[cT: AD = BC
3R AC = BD sfifiaeq,
- 90°
5 - c Q.30 : foF=] IRAIRAT 47 H AT T IgeTD S bIToTg—
HTHID 20-30 | 30-40 |40-50 |50-60 | 60-70
S UBR AHDHT A ABC' W& FHSHIT A DBE H, BTAT &Y dET | 4 28 42 20 6
AC? = AB*+ BC? g :
T DE® = BE®+ BD? ~(4) THi® BTl W | HemE | oo
Frfieor (3) T (4) 9, (Ff-siRma §) | (f) (z)
AE*+ CD* = AC*+ DE* sfifaeq 20-30 4 25 100
30-40 28 35 980
OR
40-50 42 45 1890
Q.29: IfS T ThI TS HT &1 YoIT FAR &1, a1 Rig Hiftg fh 50-60 20 55 1100
AY YoV SRTeR gt 3iR fepof off sRmeR g 60-70 6 65 390
e 2
& : Xf=100 Xfr = 4460
TH TGS ABCD H, ABI DC R
w _ Mfr 4460 ;
e, X =5 =100 — 4460 ¥
D o TgT ey 3Tfih IRTERAT 42 A (40-50) R
3ye: 1 =40, =42, =20, h=10, fy=28
- gy fhimfo
GEl Elg?liﬁ—l+2fl_f0_f2 X h
_ 42 — 28
=40+ 5ug)y —as—20 < 10
_ 14 _ 14
A B —40+m><10—40+%><10
=40+ 10 =40+ 3.8
TEAD = 43.89
fre 3 Ic:  3rise 9getd = 43.89 3d

ooogoog
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